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LL.M. (PART I)(Second Semester)
EXAMINATION, MAY-JUNE, 2022

(New Course)
Paper Third

INDIAN ADMINISTRATIVE LAW

Time : Three Hours] [Maximum Marks : 80

     

Note : Attempt all sections as directed.



(Section-A)

 

(Objectives/Multiple Choice Questions)
(1mark each)

   

Note- Attempt all questions.

  

Choose correct answer.
P.T.O.
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1.          


(A)   

(B)  

(C)    

(D)   

Which of the following is not the meaning of "Rule of law"
according to A.V. Dicey -

(A) Supremacy of law

(B) Equility before law

(C) Pre-dominance of legal spirit

(D) Wide-discretionary powers

2.        

(A)   

(B)   

(C)   

(D)   

A.V. Dicey criticized which legal system?

(A) English legal system

(B) French legal system

(C) Australian legal system

(D) American legal system
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        


(A)   

(B)  

(C)  

(D) VIII 

............. is considered to be the doctrinal barrier for de-
velopment of administrative law in USA.

(A) Rule of law

(B) Sepration of powers

(C) Doctrine of pleasure

(D) Henry VIII clause

4.          

(A)  

(B)   

(C)  

(D) 

The functions of the executive can be classified as

(A) Delegated legislation

(B) Quasi judicial function

(C) Discretionary functions

(D) All of the above

P.T.O.
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5. 

(A)     

(B)     

(C)     

(D)       
 

Which of the following is true?

(A) The legislative order has to be published

(B) For quasi judicial decisions reason may not be given

(C) The duty to give reasons applies to legislative orders

(D) The administrative powers cannot be sub delegated.

      

(A) 

(B)   

(C)    

(D)   

Which of the function may not be delegated -

(A) Commencement

(B) Inclusion and exclusion

(C) Application of existing laws

(D) Essential legislative functions
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7.   


(A)  

(B)   

(C)   

(D)   

Which of the following functions are permissible delega-
tion?

(A) Future acts

(B) Imposition of tax

(C) Supplying of details

(D) Ouster of jurisdication of court

8. 


(A)   

(B)    

(C)      

(D) 

Which of  the following is correct definition of "Audi Alterm
Partem"?

(A) Listening to the appeal

(B) Right of fair hearing

(C) Right to know reasons of decision

(D) All of the above

P.T.O.
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9.          
  

(A)  

(B)  

(C)  

(D) 


Which of the following is write definition of the phrase
"Nemo judex in causa sua"

(A) No man is capable of rendering judgement on himself

(B) No man shall be a judge in his own cause

(C) No man can punish hmiself

(D) Proper justice can be done if the judge is related to
the party

10. 

(A) 

(B) 

(C)    

(D)    

Which of the following is not a control on delegated legis-
lation-
(A) Judicial
(B) Legislative
(C) Doctrine of altra vires
(D) Doctrine of lifting of veil
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11. 

(A)    

(B)  

(C) 

(D) 

Which of the following is not the ground for substantive
ultra vires?

(A) Non publication of rules

(B) No consultation

(C) Sub delegation

(D) None of the above

12.         


(A)   

(B) 

(C)   

(D) 

Which of the following is Not the ground for substantive
ultra vires?

(A) Where parent act is unconstitutional

(B) Where parent act delegates essential legislative
functions

(C) Where delegated legislation is arbitrary

(D) Where mandatory consultation process is not com
plied with

P.T.O.
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13.  

(A)  

(B)  

(C) 

(D)  

Which of the following is Not a type of bias?

(A) Pecuniary bias

(B) Personal bias

(C) Judicial obstinary

(D) None of the above

14.  


(A) 

(B)    

(C) 

(D)  

The administrative tribunal have been recognised under
which of the following articles of the constitution-

(A) Art 136 and Art 227

(B) Art 323 A and 323 B

(C) All of the above

(D) Art 32
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15.

(A) 
 

(B)   

(C) 

(D)       


Which of the following statements is true?

(A) All courts are tribunals but all tribunal are not courts
(B) Tribunals are not bound by the decisions of supreme

court

(C) A tribunal is established by government
(D) Tribunal are not bound by principles of natural jus

tice

16.        


(A)    

(B)  

(C)  

(D) 
Excess or abuse of discretion can be through which of
the following grounds-

(A) Living out relevant consideration
(B) Arbitrary action

(C) Exceeding jurisdiction
(D) All of the above

P.T.O.
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17.         


(A)  

(B)  

(C)  

(D)  

The tortious liability of the government is recognised in
the indian constitution by-

(A) Art  298

(B) Art  294

(C) Art  323

(D) Art  299

18. 


(A)     

(B)   

(C)    

(D)  

The tortious liability of the state was Not recognised in
which of the following cases?

(A) State of Rajasthan Vs Vidyawati

(B) Kasturi lal Vs state of Uttar Pradesh

(C) State of Gujrat Vs Memon Mohammed Haji

(D) Railway board Vs Chandrima Das
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19.          


(A)  

(B)  

(C) 

(D) 

The public corporation can be held liable under which of
the following the liabilities -

(A) Liability in contracts

(B) Libility in torts

(C) Liability of crimes

(D) All of the above

20.      

(A) 

(B) 

(C) 

(D) 

The institution of ombusdsman orriginated in 1809 at-

(A) France

(B) Sweden

(C) Germany

(D) Australia

P.T.O.
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   

(Section- B)

 

(Very Short Answer Type Questions)

    

Note : Attempt all questions.

2 marks each)

1.    

Is the purpose of lokpal is to adjudicate?

2.    

No one shall be a judge in his own cause.

3.       

The purpose of the Writ of certiorari.

4.    

Nature of administrative law

5.  

Public corporation.
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6. 

Substantial injury

7.    

Constitute related provision of state information.

8.    

Define information.



(Section - C)

 

Short Answer Type Questions)

   

Note : Attempt all questions.

3 marks each)

1.         
 

Right to information act 2005 replaced which act?

2.     

What is a Public Interest Litigation? Explain with refer-
ence to decided caseC

P.T.O.
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3.       

What are the powers of commission of enquiry? State
how it is constituted.

4.        

Write the five name of public corporation in India.

5.    

Explain Parliamentary control

  

What do you understand by liability of state?

       
 

What are the main characteristic features of Modern
Administration Tribunals?

            


A.K. kripak and others Vs union or India A.I.R. 1970
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

Section D

  

(Long Answer Type Questions)

5 marks each)

   

Note : Attempt all questions.

     
      

"It appears that there is a great divergence of opinion with
regard to the definition/conception of administrative law".
Discuss

         
 

What do you understand by public-corporations. Discuss
their constitutional position? Under which control they
work?

          


"Commission of enquiry is mere a fact finding authority it
is not equal to the courts" Explain it.

P.T.O.
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4. 
  

What is a administrative direction? How it differe from
the rules? Can it be enforce through a count of law?


